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QUESTION 281Y ou use SQL Server 2014. The physical server is a dedicated database server that has 120GB of RAM available.
There is approximately 50GB of storage space available on aslow local disk.Y ou create a new stored procedure. Y ou decide you
need to temporarily hold approximately 300,000 rows from two tables, from which you will compute two complex business scores.

The stored procedure will use temporary storage defined as follows: AccountNumber char(19) NOT NULL
YeazJoDateSal r'lsTotalr jn)rri_,.’a 1(15,2) NULL
saleddcore! fmtwdid /=L V- LU
FutureSalesExpectationScore int NULL

The code will make several passes through the data, applying complex calculations before writing the data to a permanent
disk-based table in the same database from which it reads the data.For this stored procedure, you need to deal with temporary datain
the most efficient way to minimize physical disk pressure.What should you do? More than one answer choice may achieve the goal .
Select the BEST answer. @~ ::[u.-.re TYPE dbo.AccountScoringModel as TABLE

AccountNumber char{1@8) COLLATE Latinl_General 109@_B8INZ NOT NULL ,
vearToDateSalesTotal decimal(15,2) MULL,
SalesScore int MULL,
FutureSalesExpectationScore int WULL,
INDEX Accounthumber MASH (Accounthumber) WITH (BUCKET_COUNT = 25000)
) WITH { MEMORY_OPTIMIZED = OM )
oo
DECLARE PaccountScoring as dbo.AccountScoringtodel

(OB, DECLARE @AccountScoring as TASLE
{
AccountNumber char(1@8) NOT NULL,
YearTeDateSalesTotal decimal(15,2) WULL,
salesScore int MULL,
FuturesalesExpectationScore int WULL

iy 'r"-f'_ T r | - i _r/ 2 a ‘=t & 1 a
I AINICGITID 0. LONN
(OC.  CREATE TABLE sAccountScoring

(

Accounthumber char(12) NOT NULL,
YearToDateSalesTotal decimal(15,2) MULL,
SalesScore int MULL,
FutureSalesExpectationScore int MULL

)

OD.  CREATE TYPE dbo.AzcountScoringModel as TABLE

AccountNumber char(19) COLLATE Latinl_General 109 _BIN2 NOT NULL ,
YesrTeDateSalesTotal decimal(1%,2) WULL,
SalesScore int WULL,
FutureSalesExpectationScore dnt NULL,
THDEX A¢countMusber HASH (AccountNusber) WITH (BUCKET_COUNT = 12@)
) WITH { MEMORY_OPTIMIIED = OM )
&0
DECLARE BaccountScoring &s dbo.AccountScoringModel

A. OptionAB. OptionBC. Option CD. Option D Answer: AExplanation:* Y ou must specify avalue for the
BUCKET_COUNT parameter when you create the memory-optimized table. In most cases the bucket count should be between 1
and 2 times the number of distinct valuesin the index key. If the index key contains alot of duplicate values, on average there are
more than 10 rows for each index key value, use a nonclustered index insteadY ou may not always be able to predict how many
values a particular index key may have or will have. Performance should be acceptable if the BUCKET _COUNT valueiswithin 5
times of the actual number of key values. QUESTION 282Y ou develop a Microsoft SQL Server 2012 database. The database is used
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by two web applications that access a table named Products. Y ou want to create an object that will prevent the applications from
accessing the table directly while still providing access to the required data.Y ou need to ensure that the following requirements are
met: Future modifications to the table definition will not affect the applications' ability to access data. The new object can
accommodate data retrieval and data modification.Y ou need to achieve this goal by using the minimum amount of changes to the
applications.What should you create for each application? A.  SynonymsB. Common table expressionsC. ViewsD. Temporary
tables Answer: C QUESTION 283Y ou are designing a SQL Server Integration Services (SSIS) package that uses the Fuzzy Lookup
transformation. The reference data to be used in the transformation does not change. Y ou need to reuse the Fuzzy Lookup match
index to increase performance and reduce maintenance. What should you do? A.  Select the GenerateAndPersistNewIndex option
in the Fuzzy Lookup Transformation Editor.B.  Select the GenerateNewlndex option in the Fuzzy L ookup Transformation Editor.
C. Select the DropExistingMatchindex option in the Fuzzy Lookup Transformation Editor.D. Execute the

sp_Fuzzyl ookupTableMaintenanceUninstall stored procedureE.  Execute the sp_FuzzyL ookupTableMaintenancel nvoke stored
procedure. Answer: A QUESTION 284Y ou are developing a SQL Server Integration Services (SSIS) package. Y ou need to design a
package to change a variable value during package execution by using the least amount of development effort.What should you use?
A. ExpressiontaskB. ScripttaskC. Execute SQL taskD. Execute ProcesstaskE. Term Extraction transformation Answer: A
QUESTION 285Y ou are creating a SQL Server Master Data Services (MDS) model for a company. The source data for the
company is stored in asingle table that contai ns the manager-to-subordinate relationships. Y ou need to create a hierarchy
representing the organizational structure of the company. Which hierarchy type should you use? A. NaturalB. ExplicitC. Parent
D. Recursive Answer: D QUESTION 286Y ou are completing the installation of the Data Quality Server component of SQL Server
Data Quality Services (DQS). Y ou need to complete the post-installation configuration. What should you do? A.  Run the
Configuration component in the Data Quality Client.B. Install ADOMD.NET.C. Run the Data Quality Server Installer.D.

Make the data available for DQS operations. Answer: C QUESTION 287Y ou are the data steward for a Business Intelligence
project. Y ou must identify duplicate rows stored in a SQL Server table and output discoveriesto aCSV file. A Data Quality Services
(DQS) knowledge base has been created to support this project. Y ou need to produce the CSV file with the least amount of
development effort. What should you do? A.  Create an Integration Services package and use a Data Profiling transform.B.

Create a custom .NET application based on the Knowledgebase class.C.  Create adata quality project.D. Create a CLR stored
procedure based on the Knowledgebase class.E. Create a Master Data Services (MDS) business rule. Answer: C QUESTION 288
Y ou devel op three Microsoft SQL Server 2012 databases named Databasel, Database?, and Database3. Y ou have permissions on
both Databasel and Database2. Y ou plan to write and deploy a stored procedure named dbo.usp_InsertEvent in Database3.
dbo.usp_InsertEvent must execute other stored procedures in the other databases. Y ou need to ensure that callers that do not have
permissions on Databasel or Database? can execute the stored procedure. Which Transact-SQL statement should you use? A.  USE
Database?B. EXECUTE ASOWNERC. USE DatabaselD. EXECUTE AS CALLER Answer: B QUESTION 289Y ou use
Microsoft SQL Server 2012 to devel op a database application. Y ou need to implement a computed column that references alookup
table by using an INNER JOIN against another table.What should you do? A. Reference a user-defined function within the
computed column.B. Create a BEFORE trigger that maintains the state of the computed column.C. Add a default constraint to
the computed column that implements hard-coded values.D. Add a default constraint to the computed column that implements
hard-coded CASE statements. Answer: A QUESTION 290Y ou are implementing a SQL Server 2012 five-node failover cluster.Y ou
need to choose a quorum configuration.Which configuration should you use? A.  Distributed File System (DFS)B. Node Mgjority
C. Cluster Shared Volume (CSV)D. Node and Disk Mgjority Answer: B 2015 L atest Released Microsoft 70-469 Exam Dumps
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